LD
T 1 5 @ 5 9 -’ §+§§&§ém§§-§+§ﬂ§ F
FAITT X 1 1
EXET =X 1 1
R fEIgA EEEL m3 1,380.7 1,300
fEiEB EEEL m3 105.2 100
fEigB EEARY m3 768.7 760
fEigc FEERY m3 336.9 330
E2id m3 291.5 290
Bt 2.5mK i m3 15.2 10
BRL EAXERLIE4OME L m3 572.8 570
1.0mEL £ 4.0mK i m3 118.2 110
HLunET = 1 1
T RS EN & 155 ik m3 2,882.9 2,800
TREER RIGERA m3 706.2 700
TR EN ER RN R m3 73.0 70
TREER 53t m3 2,025.3 2,000
RIGITHET Fa 1 1
RISITHRIAT Fa 1 1
KK o)—k 24-8-25BB m3 390.5 390.5
B HEBIEY m2 628.7 620
ZE#a o) —k 18-8-40BB t=20cm m3 23.1 23.1




LD
T 7 31 4 31 19 i B §+%§&§ém§§§+§ﬂ§ o

B HL m2 6.5 6

ERRA BE9799%7VRC-40 t=20cm m2 2305 230

7335 SD345 D13 —Ht&iEY t 6.572 6.572

SD345 D16~D25 —#RiEEY t 29.380 29.380

SD345 D29~D32 —#RiEEY t 18.246 18.246

Ri5 Bl R 15 #hm2 295.9 295

HER #hm2 69.9 69

B33 ZZm3 369.7 369

frFET =X 1 1

L& 1F KR m 19.7 19.7

B itk m2 454 45

1E7K AR m 69.6 69

KT X 1 1

FhK 18R - 41 Br7K m2 174.0 174

hoK ETEHD m2 151.6 151

MR ERET Fa 1 1

FREAT = 1 1

FREAME WE-BRE = 2 2

V5 LE it T 2 1 1

ERE R AL R H1100 m 18.8 18.8




VD
. £
T 7 3 @ 3 118 B e | miHE =

ERERh AR H1100 BEE m 27.2 27.2
JAURET = 1 1
ERNER WEBHRE E 1 1
WEET 2 1 1
ST HERE T X 1 1
INEU Y R 5 H=0.60m m3 0.2 0.2
EhABEEE ) EH=1.64m m3 7.6 7.6

ERER m 7.3 70.187+7.147=17.3
TLx v ANERT = 1 1
LB e H=2.0m m 1.9 1.9
H=1.9m m 4.0 4.0
H=1.8m m 4.0 4
H=1.6m m 20 2.0
H=1.5m m 4.0 4.0
H=1.4m m 4.0 4.0
H=1.3m m 20 2.0
H=1.2m m 20 2.0
H=1.1m m 20 2.0
H=1.0m m 4.0 4.0
H=0.9m m 4.0 4.0




J0N
T 1 5 @ 5 9 e | %;mﬂ%; F

H=0.8m m 20 20

HkEBEYT Fa 1 1

SEkt-<oR—)LT = 1 1

TL v X EK 300 x 300 X 1000 AT 1.0 1.0

AL ®900 AT 1.0 1.0

ERT =X 1 1

Ea—LE 300 15& m 26.4 26.4

TLEx v XbRYYZXADIL/A—k 300 x 300 m 13.6 136

fET Fa 1 1

B B A ECiE 300 x 500 m 24.9 249

A= avy)—hE 300 HEMA L5 21 21

A= JL—F24 300 HiEHR L5 4 4

WET F 1 1
TAI7ILAGET .

EHESED = ‘ ‘

=E BAEMMET X2 t=4cm m 18.8 18

iz2ges 979w Z2C-30 t=10cm m 18.8 18
TAI7ILhGET .

(2 EE) = ‘ ‘

xE BAZHET7 XY t=4cm m 511.0 511

iz g BEIT9YvTURC-40 t=15cm m 511.0 511

REx T 2 1 1




LD
T 1 5 @ 5 9 e | %:;*ygémgggﬁﬂg F

T B-{REHEYIT = 1 1

i R ARFT A HHRIRIVE! L=12.0m L5 61 61 [149.765t

i xR 514k HHRIRIVE! L=12.0m L5 164 164 [149.765t

i xR 514k HRIRMWE! L=11.5m L5 14 14 [13.138t

fEREL H-400 X 400 X 13 X 21 t 24210 |  24.200
IEY H-400 x 400 x 13 x 21 t 6.084 6.000
KITR H-350 x 350 X 12X 19 [=2.964m t 1.779 1.779
H-350 X 350 X 12X 19 L=3.65m t 1.095 1.095
BIERHTA KITRE—R-FYoDvuxsE t 7.297 7.297
BI&ER#B T2 vbk, RILkFuk t 1.327 1.327
BRER AR L=0.5m/#% AT 191 191
RETDS 1.0m3 #A-RE-BE &% 82 82
ROZv TGy t 13.138 13.138
KET = 1 1
R THEK F 1 1
BEYREL Fa 1 1
BEYREL Fa 1 1
avyy—hEUEL HHBEY m3 5.3 5
EEEEY m3 16.2 16
PRIEH - 05y HHBEY m3 5.3 5




LD
T 1 5 @ 5 9 e | %:;ﬂ;é*ﬂgggﬁﬂg F
EEEEY m3 16.2 16.2
T AT 7 IV AR Y] t=15cmK i m 485 480
T A7 IV R - EA t=15cm3Kili 7 ARAI7ILMEEE m2 518.5 518.0
BB - AL 53 T A7 )L EZEGRAD m3 20.7 20.0 |518.5%0.04=20.7
BhEEMmEE T Fa 1 1
B MRS m 27.2 27.2




ZE A g R M =2
fE¥LTT
KYE —RIET ZRIET (i3
EIFAPEESE) |V = 4451 + 9356 =| 1380.7 m3
SEIBIEE®E) |V = 00 + 1052 = 105.2 m3
SEIEB(FEER) |V = 4154 + 3533 = 768.7 m3
fEEHCEER) |V = 2059 + 1310 = 3369 m3
2% VvV = 73 + 1627 + 1214 = 2915 m3
Bt
25>W VvV = 00 + 00 + 152 = 152 m3
HEREL
HELB V = 5728 + 00 + 00 = 572.8 m3
EAIERLIEAmMEL L)
HERLC VvV = 00 + 625 + 557 = 1182 m3
(ImLL E4m3&iE)
2K
TRYEER V1 = 13807 + 1052 + 7687 + 336.9
+ 2915 2882.9 m3
et -HE
V2 = 152 + 5728 + 1182 + 706.2 m3
kb B o
V3 = 730 x 10 73.0 m3
V = 28829 - 7062 / 09 - 730 =| 20253 m3




+ T #HHEE

— i T

L B [20.00]m
R J AR || R B (FE FE ) BfEdg || R W (FE F A) BfEdg || R W (FE FE A) CHEk
wooos BLBRRE [ DT R ) Hivly W i it ) Hivly W i it ) Hivly W i it ) Hivly 5 =
W T& 187 T A T& 147 T A T& 187 T A +&
(m) () () () () () () () () () () () ()

No. 6 + 14.400 0. 000 0.0 0.0 0.0 0.0
No. 6 + 16.222 1. 822 0.0 0.0 0.0 0.0 No. 7+0. 8107 f]
No. 7 + 0.810 4. 588 0.0 0.0 0.0 0.0
No. 7+ 5. 900 5. 090 0.0 0.0 0.0 0.0
No. 7 + 10.479 4.579 0.0 0.0 0.0 0.0
No. 7 + 15.519 5. 040 0.0 0.0 0.0 0.0 No. 7+19. 3007 ff]
No. 7 + 19.300 3. 781 0.0 0.0 0.0 0.0
No. 8 + 10.242 10. 942 31.5 15.75 172. 3 0.0 21.7 10. 85 118.7 11.6 5. 80 63.5
No. 9 + 0.000 9. 758 24. 4 27.95 272.7 0.0 39.1 30. 40 296. 6 17.6 14. 60 142. 5
No. 9 + 5. 130 5.130 0.0 0.0 0.0 0.0
No. 9 + 5. 130 0. 000 0.0 0.0 0.0 0.0
No. 9 + 10.130 5. 000 0.0 0.0 0.0 0.0
No. 9 + 10.130 0. 000 0.0 0.0 0.0 0.0 No. 9+18. 2007 ff]
No. 9 + 14.300 4. 170 0.0 0.0 0.0 0.0 No. 9+18. 2007 ff]
No. 9 + 18.200 3.900 0.0 0.0 0.0 0.0
No. 10 + 0.000 1. 800 0.0 0.0 0.0 0.0
No. 10 + 24.000 24. 000 0.0 0.0 0.0 0.0

AN 7 89. 600 445. 1 0.0 415.4 205.9




Lt THREE — M T
L B [20.00]m
IR 1 e & + b = FCHLE bl 1 5 B Im=<W< 4m
HooR FLERRE [ TR ) HiL g ) HiL M i i ) HiuL g ) Hurly i =
W =" W T A =" W T A TR W T A &
(m) () (?) () () () () () () () (m) (m) ()
No. 6 + 14.400 0. 000 0.0 0.0 0.0 0.0
No. 6 + 16.222 1.822 0.0 0.0 0.0 0.0 No. 7+0. 810 %
No. 7 + 0.810 4. 588 0.0 0.0 0.0 0.0
No. 7 + 5.900 5.090 0.0 0.0 0.0 0.0
No. 7 + 10.479 4.579 0.0 0.0 0.0 0.0
No. 7 + 15.519 5. 040 0.0 0.0 0.0 0.0 No. 7+19. 3004
No. 7 + 19.300 3. 781 0.0 0.0 0.0 0.0
No. 8 + 10.242 10. 942 0.0 0.0 37.1 18.55 203.0 0.0
No. 9 + 0.000 9. 758 1.5 0.75 7.3 0.0 38.7 37.90 369. 8 0.0
No. 9 + 5,130 5.130 0.0 0.0 0.0 0.0
No. 9 + 5,130 0. 000 0.0 0.0 0.0 0.0
No. 9 + 10.130 5.000 0.0 0.0 0.0 0.0
No. 9 + 10.130 0. 000 0.0 0.0 0.0 0.0 No. 9+10. 1304
No. 9 + 14.300 4.170 0.0 0.0 0.0 0.0 No. 9+18. 2007
No. 9 + 18.200 3.900 0.0 0.0 0.0 0.0
No. 10 + 0.000 1. 800 0.0 0.0 0.0 0.0
No. 10 + 24.000 24.000 0.0 0.0 0.0 0.0
7N 7 89. 600 7.3 0.0 572.8 0.0




+ T #HHEE

“RiET

L B [20.00]m
R J AR || R B (FE FE ) BfEdg || R W (FE F A) BfEdg || R W (FE FE A) CHEk
wooos BLBRRE [ DT R ) Hivly W i it ) Hivly W i it ) Hivly W i it ) Hivly 5 =
W T& 187 T A T& 147 T A T& 187 T A +&
(m) () () () () () () () () () () () ()

No. 6 + 14.400 0. 000 0.0 0.0 0.0 0.0
No. 6 + 16.222 1. 822 0.0 0.0 0.0 0.0 No. 7+0. 8107 f]
No. 7 + 0.810 4. 588 0.0 0.0 0.0 0.0
No. 7+ 5. 900 5. 090 0.0 0.0 0.0 0.0
No. 7 + 10.479 4.579 0.0 0.0 0.0 0.0
No. 7 + 15.519 5. 040 0.0 0.0 0.0 0.0 No. 7+19. 3007 ff]
No. 7 + 19.300 3. 781 0.0 0.0 0.0 0.0
No. 8 + 10.242 10. 942 0.0 0.0 0.0 0.0
No. 9 + 0.000 9. 758 24. 4 12. 20 119. 1 0.0 39.1 19. 55 190. 8 17.6 8. 80 85.9
No. 9 + 5. 130 5.130 65. 5 44. 95 230.6 7.3 3. 65 18.7 0.0 19. 55 100. 3 0.0 8. 80 45.1
No. 9 + 5. 130 0. 000 81.2 73.35 0.0 17.3 12. 30 0.0 0.0 0.0
No. 9 + 10.130 5. 000 81.2 81. 20 406. 0 17.3 17. 30 86. 5 24.9 12. 45 62.3 0.0
No. 9 + 10.130 0. 000 29.4 55. 30 0.0 0.0 8. 65 0.0 0.0 12. 45 0.0 0.0 No. 9+18. 2003 ff]
No. 9 + 14.300 4. 170 29.4 29. 40 122. 6 0.0 0.0 0.0 No. 9+18. 2003 ff]
No. 9 + 18.200 3.900 0.0 14.70 57.3 0.0 0.0 0.0
No. 10 + 0.000 1. 800 0.0 0.0 0.0 0.0
No. 10 + 24.000 24. 000 .0 0.0 0.0 0.0

AN 7 89. 600 935. 6 105. 2 353.3 131.0




T T HEE “RETL
L B [20.00]m
R b I & & 1 = BB L bl 1 = In=W<4m
bl A PR I i i NS Ml I iF i NS Ml I i i NS Ml I i i NS Ml i o
i T A s i T A s i T A T & i T A &
(m) () () (m®) (m*) () () (m*) () () (m) (m) ()

No. 6 + 14.400 0. 000 0.0 0.0 0.0 0.0
No. 6 + 16.222 1.822 0.0 0.0 0.0 0.0 No. 7+0. 81041
No. 7 + 0.810 4.588 0.0 0.0 0.0 0.0
No. 7 + 5.900 5. 090 0.0 0.0 0.0 0.0
No. 7 + 10.479 4.579 0.0 0.0 0.0 0.0
No. 7 + 15.519 5. 040 0.0 0.0 0.0 0.0 No. 7+16. 3001878
No. 7 + 19.300 3.781 0.0 0.0 0.0 0.0
No. 8 + 10.242 | 10.942 0.0 0.0 0.0 0.0
No. 9 + 0.000 9.758 0.0 0.0 0.0 0.0
No. 9 + 5.130 5.130 0.0 0.0 0.0 0.0
No. 9 + 5.130 0. 000 0.0 0.0 0.0 0.0
No. 9 + 10.130 5. 000 0.0 0.0 0.0 0.0
No. 9 + 10.130 0. 000 0.0 0.0 0.0 0.0 No. 9+10. 1301878
No. 9 + 14.300 4.170 8.8 4,40 18. 4 0.0 0.0 1.2 0.60 2.5 o918, 2001
No. 9 + 18.200 3.900 8.8 8.80 34.3 0.0 0.0 1.2 1.20 4.7
No. 10 + 0.000 1. 800 5.5 7.15 12.9 0.0 0.0 2.9 2.05 3.7
No. 10 + 24.000 | 24.000 2.6 4,05 97.2 0.0 0.0 1.4 2.15 51.6

NE 89. 600 162. 7 0.0 0.0 62.5




T T HEE LAY ek
L B [20.00]m
R b I & & 1 = BB L bl 1 = In=W<4m
bl A PR I i i NS Ml I iF i NS Ml I i i NS Ml I i i NS Ml i o
i T A s i T A s i T A T & i T A &
(m) () () (m®) (m*) () () (m*) () () (m) (m) ()

No. 6 + 14.400 0. 000 0.0 0.0 0.0 0.0
No. 6 + 16.222 1.822 0.0 0.0 0.0 0.0 No. 7+0. 81041
No. 7 + 0.810 4.588 0.0 0.0 0.0 0.0
No. 7 + 5.900 5. 090 0.0 0.0 0.0 0.0
No. 7 + 10.479 4.579 0.0 0.0 0.0 0.0
No. 7 + 15.519 5. 040 0.0 0.0 0.0 0.0 No. 7+16. 3001878
No. 7 + 19.300 3.781 0.0 0.0 0.0 0.0
No. 8 + 10.242 | 10.942 0.0 0.0 0.0 0.0
No. 9 + 0.000 9.758 1.5 0.75 7.3 0.0 0.0 0.3 0.15 1.5
No. 9 + 5.130 5.130 1.8 1. 65 8.5 0.0 0.0 0.6 0.45 2.3
No. 9 + 5.130 0. 000 1.8 1. 80 0.0 0.0 0.0 0.6 0.60 0.0
No. 9 + 10.130 5. 000 1.8 1. 80 9.0 0.0 0.0 0.6 0.60 3.0
No. 9 + 10.130 0. 000 1.8 1. 80 0.0 0.0 0.0 0.6 0.60 0.0 Po.or10. 1301
No. 9 + 14.300 4.170 3.0 2. 40 10.0 0.4 0.20 0.8 0.0 1.5 1.05 4.4 o918, 2001
No. 9 + 18.200 3.900 3.0 3.00 11.7 0.4 0. 40 1.6 0.0 1.5 1. 50 5.9
No. 10 + 0.000 1. 800 2.9 2.95 5.3 0.5 0.45 0.8 0.0 1.5 1. 50 2.7
No. 10 + 24.000 | 24.000 2.9 2.90 69.6 0.5 0.50 12.0 0.0 1.5 1. 50 36. 0

NE 89. 600 121. 4 15.2 0.0 55.7




= oAl g H =
HAOER
1AR/EKaL ) —k
1)BoxER {1 &R L= 4.980
Vi= 7.400 4500 X 4.980 165.834 m3
ErR(MNZE)
V2= 6.000 3.000 X 4.980 -89.640 m3
INTF
V3= 0.300 0.150 / 2 X 4980
X 2000 0.224 m3
YVi= 76418 m3
2)FEA D
Vi= ( 0.275 8.648 )/ 2 X 7.400
X 4500 148.568 m3
V2= ( 0.432 6.588 )/ 2 X 9.325
X 4500 147.288 m3
ZRR(NZE)
V3= ( 0.883 8.039 )/ 2 X 6.000
X 3000 -80.298 m3
ERR(AZE)
Va= ( 1.040 5.980 )/ 2 X 7.925
X 3.000 -83.450 m3
INTF
V5= 0.300 0.150 / 2
x( 0883 1040 + 8.039 + 5.980 0.359 m3
Y V2= 132467 m3
A A OER J-JERE
Vi= 4271 6.050 X 5.800 149.869 m3
J-JERE
V2= 3.800 6.050 X 3.025 69.545 m3
J-JERE
V3= 4170 0.691 X 8.725 25.141 m3
J-JERE
Va= ( 4170 1.800 )/ 2 X 4740
X 8725 123.449 m3
J-JERE
V5= 1.800 3.860 X 8.725 60.621 m3
K-KETE
V6= 4.380 0.691 X 3.025 9.155 m3
D-DHfHE
V7= 2.800 0500 X 3.025 4235 m3




B 3l g = B2

K-KETE
V8= ( 4.380 5259 )/ 2 X 1.758

X 3.025 = 25.630 m3
K-KETE
V9= 1.550 0.500 X 3.025 = 2.344 m3
J-JETE(ERR)
V10= 3.000 5400 X 4.800 = =77.760 m3
|J-obr R
V11= 3.000 0.650 X 4.800 = -9.360 m3
|J-obr R
V12= 3.570 0550 X 5.300 = -10.407 m3
|J-obr R
V13= ( 3.570 1.200 )/ 2 X 4,740

X 5.300 = -59916 m3
J-JEE R
V14= 1.200 3.860 X 5.300 = -24550 m3
|L-Ler @)
V15= 3.000 6.050 X 2.250 = -40.838 m3
|L-Ler @)
V16= 5.700 0.150 X 2.250 = -1.924 m3
|L-Ler @)
V17= 1.200 4400 X 2.250 = -11.880 m3
|L-Ler @)
V18= 8.050 2050 X 2.250 = -=37.131 m3
|p-DErE ¢z
V19= 2.100 0.500 X 1.450 = -1.523 m3
|F-FesmEdR)
V20= 1.100 0400 Xx 1.450 = -0.638 m3
|J-obr R
V21= 1.200 2,000 X 0.400 = -0.960 m3
|k-KerE )
V22= 1.200 1.800 X 0.375 = -0.810 m3
|J-obr R
V23= 1.800 2,000 X 2.650 = -9.540 m3
|J-obr R
V24= ( 1.700 2.000 )/ 2 X 0.100

X 6.075 = -1.124 m3

2V3= 181.628 m3
>V= 76418 132467 + 181.628 = 390.5 m3




= oAl g A =
2.8
1)BoxER {1 &R L= 4980 m
Al= 4500 x 4980 x 2 = 44820 m2
A2= ( 2850 + 5400 + 2850 )x 4980 = 55278 m2
A3=[( 0300 2x  0.150 ?)]"%x2 X 4980
X 2 = 6.681 m2
TA1= 106.779 m2
2)FEA D flEN 2%
Al= ( 8648 + 6586 + 0275 + 0417 )
x 4500 = 71.667 m2
A B
A2= ( 8040 + 5980 + 0881 + 0707 )
x 2850 = 44483 m2
TEhR
|A3:( 0881 + 8040 )/ 2 X 6.000 = 26.763 m2
TEhR
Ad= ( 1272 + 5980 )/ 2 X 7925 = 28736 m2
INTF
A5=[( 0300 ’x  0.150 2)]"%x2
x( 8040 + 5980 + 0881 + 0707 ) 10470 m2
TRz RR
A6= ( 8040 + 5980 + 0881 + 0707 )
X 0300 = -4682 m2
TA2= 177437 m2
4HH A OER J-JERE
(414810 Al= 4271 X 6.050 X 2 = 51679 m2
J-JERE
A2= 3.800 X 6.050 X 2 = 45980 m2
J-JERE
A3= 4170 x 0.691 x 2 = 5.763 m2
J-JERE
Ad= (4170 + 1.800 )/ 2 X 4.740
X 2 = 28298 m2
J-JERE
A5= 1.800 x 3.860 X 2 = 13.896 m2
J-JERE
A6= 2.800 X 3.025 = 8.470 m2




E Al g7 =

K-KEf
AT= 4380 x 0691 x 2 = 6053 m2
K-KEf
A8= (4380 + 5250 )/ 2 x 1758

x 2 = 16.945 m2
K-KEf
A9= 1550 x 0500 x 2 = 1550 m2
K-KEf
A10=( 1550 + 5259 )x 3025 = 20597 m2

(RE)  |[-JE

Al1= 2750 x( 5400 + 0150 )x 4 = 61050 m2
|J-JerE
Al2= 3570 X 0550 x 2 = 3927 m2
|J-JerE
A13=( 3570 + 1200 )/ 2 X 4740

x 2 = 22610 m2
J-JHfT
Al4= 1200 x 1860 = 2232 m2
|L-LiE
A15= (2600 + 4400 )X 1.200 = 8400 m2
|k E
A16= 1200 X 0400 = 0480 m2
|L-LiE
A17= 3000 X 3050 = 9.150 m2
|L-LiE
Al8= 3000 x 2250 = 6750 m2
|L-LiE
A19= (2050 + 2250 )x 2 x 8050 = 17.308 m2
|L-LiE
A20= 1200 X 2250 = 2700 m2
|c-cwiE
A21= 1200 x 2625 = 3150 m2
|L-LiE
A22= 1800 x 8725 = 15705 m2
|L-LiE
A23= 1200 x 0375 = 0450 m2
|J-oL-LisE
A24= 7000 X 0300 X 2 = 4200 m2
[p-oksE
A25= 0600 X 5300 = 3180 m2
|-k
A26= 4170 x 0100 = 0417 m2




EooAl # H % =

INF(J-JBRE)
A27=[( 2700 2x  5.400 %)]'72 + 0150 ]

x 2 X 0.335 = 4146 m2

INFERD FLEE R

(0300 2x  0.150 2)]"? = 033 m
D-DETEHERR)
A28= (3800 + 1615 )/ 2 x( 5400

+  0.150 = -15027 m2
D-DH#R E (FERR)
A29= 2100 X 1450 X 2 = -6.090 m2
|[E-EwrmEEEmR)
A30= 1.100 X 1450 X 2 = -3.190 m2
[p-oksE
A31= (2100 X 2 + 1450 )x 0500 = 2.825 m2
|E-ERE
A32= 1.100 X 2 X 0.400 = 0880 m2

T A3= 344484 m2

A= 106779 + 177437 + 344484 =| 6287 m2




# Al g A H 2
SEMEI Y1) —NERFED
Vi= 7400 X 4980 x  0.100 = 3.685 m3
PR ED
ve= (0275 + 8648 )/ 2 x 7.400
X 0100 = 3.302 m3
PR ED
V3= ( 0432 + 6588 )/ 2 X 9325
X 0100 = 3273 m3
HA O
V4= 6050 x 8825 x  0.100 = 5339 m3
HAOE
V5= 7150 x 8725 x  0.100 = 6.238 m3
HA O
V6= 2000 x 6075 x  0.100 = 1.215 m3
YV= 23052 m3 = 231 m3
4L B
A= ( 13628 + 6588 + 15200 + 5255 +  15.200
+ 8725 + 0100 )X  0.100 = 6.470 m2
YA= 6470 m2 = 6.5 m2
5.EBRA ER{+&B
Al= 7400 x  4.980 = 36.852 m2
PR ED
A2= (0275 + 8648 )/ 2 x 7400 = 33015 m2
PR ED
A3=( 0432 + 6588 )/ 2 X 9325 = 32731 m2
HA O
Ad= 6050 X 8825 = 53391 m2
HAOE
A5= 7150 x 8725 = 62.384 m2
HAOE
A6= 2000 x  6.075 = 12150 m2
Y A= 230523 m2 =| 2305 m2




oAl g B E
6.2 8 S
Navy)—r =Ry ZEATER
18-8-40 Vi= 5800 X 008 X 4.980 2484 m3
hi= 0100 m (dd)
h2= 0071 m (HEER  (=0.10m-2.90m X 1%)
AH=( 0100 + 0071 )/ 2 = 0086
- FEAEER
V2= ( 0883 + 8.039 )/ 2 x 6.000
X 0.100 2677 m3
V3= ( 1.040 + 5.980 )/ 2 x 7.925
X 0.100 2.782 m3
-HAOER
V4= 0070 x 5550 X 4.800 1.865 m3
V5= 0070 x 4500 X 5.300 1.670 m3
V6= 0100 x 3860 X 5.300 2.046 m3
V7= 0070 x( 0650 X 4800 + 0.550
X 5300 ) 0422 m3
V8= 0100 x 5550 X 2.250 1.249 m3
V9= 0100 X 4400 X 2.250 0.990 m3
V10= 0100 x 2000 X 0.400 0.080 m3
Vii= 0100 x 1800 X 0.375 0.068 m3
|
V12= 0210 x 0.105 / 2 X 5.300
X 32 E% 1.870 m3
V= 18203 m3 = 182 m3
2)EILZIL Bes Bt
1:3 Vi= 0310 x 0030 X 5300 X 32 0.049 m3
V= ( 0040 + 0.030 )/ 2 x 0.120
X 32 0.134 m3
V= 0.183 m3 = 02 m3




i g H H =
7.82 8k
SD345 D13  E&HES SHEEEER) A R TUR—s—Eh HA DERUR)
W= 2,754 + 252 + 493 + 1,350 + 1,723 = 6,572 kg
D16
W= 706 + 1,590 + 913 + 167 + 86 = 3,462 kg
D19
W= 3,566 + + 1,126 + 808 + 2,543 = 8,043 kg
D22
W= 2,232 + 798 + 422 + 847 + 340 = 4,639 kg
D25
W= 9,047 + 557 + 2,828 + + 804 = 13,236 kg
D29
W= 3,484 + 2,029 + + + = 5513 kg
D32
W= 10,018 + + + + 2,715 = 12,733 kg
D13 : 6,572 kg
D16~D25 29,380 kg
D29~D32 : 18,246 kg
2 V= 54,198 kg = 54,198 kg
8.8 #h#f Ry R ER ~ HE i S
Al= 7400 X 4500 - 6.000 x 3.000 = 15.300 m2
AR ~ H A O &8 (Box)
A2= 9.325 X 43711 - 7925 x  3.000 = 16.985 m2
INVTF
A3= 0300 X 0.150 / 2 X 4 = 0.090 m2
HAATILA—2—%Th)
A4= 8.550 X 3.025 - 8.050 x 2.250 = 7.751 m2
A5S= 4241 X 5.700 - 3,570 x 5.300 = 5.253 m2
2A= 45379 m2 = 454 m2
9./ R )yTELIL
L= 5.300 X 32 = 169.600 m 1696 m




= oAl g A ¥ =
10.815T
DEHE RS b E il FEER
Al= ( 5255 + 13628 + 6.388 + 2.200
X 5.100 140.102 #pm2
H A O ER(T L A — S — 58 ) |
A2= 5500 X 4100 X 2 45.100 #pm?2
HAORETLR—2—24vTh)
A3= ( 3025 + 2950 X 2 + 2.200
X 8.850 98.456 #fm2
HAOERTLA—F— v Th) |
Ad= 3025 X 2.700 8.168 #m?2
H A O £R(ER Y 18) |
Ad= 0900 X 4570 4113 $#fm2
T A= 295939 #m2 = 2959 i#m2
NEE RIS H A B ER(FFEER : Box)
Al= 5700 X 4570 26.049 #fm2
HA O ER(FREER : URY)
A2= (4570 + 2100 )/ 2 X 4.740
X 2 31.616 #Fm2
TA= 69946 #tm2 = 69.9 #im2
NIRRT Ry ZEUTER
Vi= 6.000 X 3.000 x 4.980 89.640 ZEm3
b3 il
v2=( 0883 + 8039 )/ 2 X 6.000
X 3.000 80.298 m3
b3 il
V3= ( 1040 + 5980 )/ 2 X 7.925
X 3000 83.450 m3
HAOSTELR—2—ER)
V4= 2.250 X 5550 X 3.000 37.463 ZEm3
H A O ER(FFFER : Box)
V4= 4800 X 5550 X 3.000 79.920 ZEm3
INTF(ERR)
V5= 0.300 X 0.150 / 2 x(  13.019
+ 5980 + 5.863 1.040 ) -0.583 ZEm3
INTF(FERR)
V5= 0.300 X 0.150 / 2 x( 5550
+  6.187 )x 2 -0.528 ZEm3
T V= 369.660 ZEm3 =| 369.7 zm




oAl g H H =
12057k T
DBA7K LR - {8110
BoxHR{ &R
Al= ( + 4500 X 2 )X 4980 = 44820 m2
b3 il
A2= (7941 + 6.588 + 0275 + 0432 )
X 4500 = 68562 m2
HAOSTLRA—2—@ER)
A5= ( + 3.800 X 2 )X 5550 = 42180 m2
H A O BR(FE B ER)
A6= ( + 4371 x 2 )X 5550 = 48518 m2
H A O ER(ERR)
A7= (3800 + 1.615 )/ 2 x( 5400
+ 0150 )x 2 = -30.053 m2
T A= 174.027 m2 =| 1740 m2
- ETEER
BoxHR{ &R
Al= (7400 + x )X 4980 =  36.852 m2
b3 il
A3=( 0275 + 8648 )/ 2 x 7400 = 33015 m2
b3 il
Ad= (0432 + 6588 )/ 2 x 9325 = 32731 m2
HAOSTLRA—2—@ER)
A5= (3025 + x )X 5550 =  16.789 m2
H A O BR(FE B ER)
A6= ( 5800 + x )X 5550 = 32190 m2
Y A= 151577 m2 =| 1516 m2
2)1E 7K ki BoxHX {1 &R ~ & #5 &
oA —/N VTR (L1= ( 6.700 + 3.750 ) x 2 = 20900 m
t=5mm PR~ B A O ER(Box)
L2= (8325 + 3.400 )x 2 = 23450 m
H A O Ef(Box)~ tH A A EB(UEY)
L3= 2638 + 6.500 X 2 = 15638 m
H A O Ef(Box)~ tH A A EB(UEY)
L4= 5736 + 3.870 = 9.606 m

2L= 69594 m

696 m




B @ % B & B ® s

B i S ECE (300 x 500)

520
~ 300 )
EHEWEHNE
7300 %500
i i
i i
N
i 1
\ ]
i
i
3 i
= i
i
i
i
|
. |
g 00009 00000,
- Tl 9080
570
&% i FER By H=
BHHRAEAE 300 x 500 N= 10.000 / 2.000 = & 5.0
K&V )— bk 18-8-25BB V="10.300 x 0.050 x 10.000 =] m3 0.150
avyl)—Fk 18-8-40BB V=" 0.570 x 0.100 x 10.000 =] m3 0.570
pitk #HL A= 0.100 X 2 x 10.000 =] m2 2.000
B BAEY799%72 (RC-40) V=" 0.570 x 0.100 x 10.000 =] m3 0.570

t=10cm




BE % B & & & 10 m Y

Ao XA IL3— |+ (300 % 300)

460
80 300 80
s P ;gég\owwx— B
/ N\ ’
\\ P
d BELSL
S Z yYyrr) ryrryr
2 20800 00064
AAAARS AAAAA
| |
505 560 §50
660
&% i FER By H=
Ry RAIIN—k 300 x 300 N=10.000 / 1.500 = & 6.7
HEILZIL 1:3 V=" 0.460 x 0.030 x 10.000 = m3 0.138
avyl)—+k 18-8-40BB V= 0.660 x 0.100 x 10.000 = m3 0. 660
i ®L A= 0.100 X 2 x 10.000 = m2 2.000
EEEM BA&E)I79%72 (RC-40) V= 0.660 x 10.000 = m2 6. 600




10m3%Y
Eax1—LE (¢300)
I /f'ié%g"“ﬁ
/ 'A‘ )(‘
/7 NN
// N\
- { v
% i 10
(W I
N\ /7
NN\ i
Y 4
o rrrrr) (rrrri
= ryyYyy vy Yyl
| |
! con |
} LU |
&% i FER By H=
Ry RAIIN—k ¢ 300 N= 10.000 / 2.430 = & 4.1
EEEM BA&E)I79%72 (RC-40) V=" 0.500 x 10.000 = m2 5. 000

t=10cm




L = =
B iz M =-% &t ﬁ g 1 &MY
=Y/ Q7
500
100 300 100 | X
JL—F & T-25505)
300 x 300/
500
100 300 100 “ l
A (C RN
300 x 300
s A
‘ 700 /
E{favoy—+
18-8-40
B FR K FER ==Xy I =
£k ¥ 300 x 300 x 1000 N= 1.00 H 1.0
EfTarvoy—+ 18-8-40 V="0.300 x 0.300 x 0.100 m3 0. 009
JL—F o5& 300A N= 1.00 » 1.0
avoil)—+hk 18-8-40BB V="0.700 x 0.700 x 0.100 m3 0.049
iy e L A= 0.100 x 0.700 x 4.000 m2 0.280




B 4 #%H B #H & £

1 By

gxpt (15 AT

BRERURE (O60F EEF)

$ 820
3 BELE
VELS //
.Cg’
s ey
— o8
=\
- ‘_}_’ ¢ 900 e
A | —
ATw7
¥ [— L/
7 TN wming
=
1l
% OF & v BAEKE VU
% Vo /e /a4
g B
BEDSu o= 088 (RL-40)
0 @ 1. 060 0
L 1,200
B FR FRIE FER HAI M=
HERR RC-40 t=200 A= 120 x 1.20 = | m2 1.4
ER © 900 N=1.00 = | @ 1.0
EEN{TEE ¢ 900-H900 N=1.00 = | @ 1.0
& B ¢ 600/900-H300 | N=  1.00 = | @ 1.0
HEy LY @ 600-H50 N=1.00 = | @& 1.0
HELE H=10 N=1.00 = | #8 1.0
EHEDUZH ¢ 600-H110,725 | N=  1.00 = | & 1.0




L = =
B 4 & B ® & =T 13tuy
INBYEE R
400
W~
2
[
5|8
e )
o
L
10 1184~ 1258 10(
(650~ 749)
L g FER B HE
avyl)—+ 18-8-40 V= 0.5 x (0.400 4+ 0.700 )x 0.599
x 0.70 m3 0. 231
g EEEY A= 0.599 x( 1.000 + 1.118 )x 0.70 m2 0. 888
ERRA BAY799470 (RC-40) A= 0.900 x 0.70 m2 0.630
t=10cm
XEHE
H=( 0.500 + 0.697 )x 0.50
= 0599 m
XIERTE
W= 0.599 x 0.500 + 0.400
= 0.700
i= /" (1%40. 5% = 1.118
EfE R A=( 0.238 + 0.297 )/ 2 x 0.700 m2 0.187




L = =
B 4 & B ® & =T 13tuy
Eh R
400
w0~
Sl2
[
(8
3
100 1184~ 1258 04
(650~ 749) )
& Hg FER BT HE
avyy—+k 18-8-40 V= 0.5 x( 0.400 + 1.221 )x 1.641
x 575 m3 7.648
Bl EHEED A= 1.641 x( 1.000 + 1.118 )x 575 m2 19. 985
ERRA B4Y799450 RC-40) | A= 1.421 x 575 m2 8.17
t=10cm
XEHH
H=( 1.567 + 1.715 )x 0.50
= 1.641 m
XIERIB
W= 1.641 x 0.500 + 0.400
= 1.221
i= /" (1%40. 5% = 1.118
e R A A=( 1.167 + 1.319 )/ 2 x 5.750 m2 7.147




A g # =

SET
25 EHE
IDEAE BHEMAIEAs t=4cm

A= 18.8 18.8 m2
4)FR AR 95y v—3> C-30 t=10cm

A= 18.8 18.8 m2
3ETHIGEHE
IDEIE BAEZHIEAs t=4cm

A= 3587 + 1523 511.0 m2
2)FR A% BEYSYvy—7> RC-40 t=15cm

A= 3587 + 1523 511.0 m2




2Rl g R B E
RE& T
1-DERRITA |SRRIVE L=12.0m

N = 103 + 61 164 &

W = 76.1 X 120 X 164 149,765 kg
-8R E14R |SRRIVE! L=12.0m

N = 85 + 79 164

W = 76.1 X 120 X 164 149,765 kg
1-DFRRE 4R |SHRARIWE! L=11.5m

N = 7 + 7 14

W = 816 x 115 x 14 13,138 kg
VgL H-400 X 400 X 13 X 21

L2 = 7712 + 4393 121.05 m

W = 2000 x 121.05 24210 kg
HLIE H-400 X 400 X 13 x 21

L = 3042 3042 m

W = 2000 x 3042 6,084 kg
5)NITE H-350%x 350X 12X 19 L=2.964m

L = 11.86 11.86 m

W = 1500 x 11.86 1,779 kg
6) M FITE H-350x 350X 12X 19 L=3.65m

L = 730 7.30 m

W = 1500 x  7.30 1,095 kg
DEIERHA W = 33,168 kg (REfEL Y1 R - NITLRRES)

W = 33168 x 022 7,297 kg
8)&IER+ B W = 33168 x 004 1,327 kg
9)SERNARE N = 131 + 60 191 &

L=0.5m
100XKELDS N = 18 + 64 82 ¥
TIREEAERE | W = 940600 + 232860 + 51229 122,469 kg




oAl # R M 2
—RiETL
Rl pSTk vy HeE HE
R ARFT A | HH R ARIVEY L=12.0m o4 103
MR E|HRk|HRRIVE L=12.0m 54 85
X5t | AR IIwWE L=11.5m 54 7
FE#2L  |H-400 X 400 X 13 X 21 L=15.66m |A& 2
fE#EL  |H-400 x 400 X 13 X 21 L=11.46m P 2 7712
fE#EL  |H-400 % 400 X 13 X 21 L=11.44m VN 2
P12 |H-400 x 400 X 13 x 21 L=10.14m |&K 3 30.42
NITZE |H-350%350% 12X 19 L=2.964m |& 4 11.86
ZRHET
Rl pSTk vy HeE HE
HRARFT A | HH R ARIVEY L=12.0m 54 61
MR E|HRk|HRRIVE L=12.0m 54 79
X5tk | K AR IIwE L=11.5m M 7
FE#2L  |H-400 X 400 X 13 X 21 L=11.785m |Z& 2 4393
fE#EL  |H-400 x 400 X 13 X 21 L=5.090m X 4 '
NITZE  |H-350%350% 12X 19 L=3.65m V. 2 7.30




BmEVREIRER

I i& E Al oA I BT = wm =
BET |3V —REUEL ZREGR m3 5.3
OB - a5y ZRE M m3 5.3
T RAI7 IV RV B t=15cmL T m 485
T AT 7 IV IR R - FEA t=15cmL T m2 5185
BOEMRAL 5 FTRI7IVNEEERR | m3 51.9
ENEIRBE H 2 |BRIARE
R E = 1 |[BFARE
SLABA LR MR fitFEF 2 H=1100 m 272




S oy — NRELEER

avy)—rEEEL

I5H By & BHa2o)—F “REm o

Hiuly HURLHE | BHuy [IRRLHBE

Ry P ZAhIR— b m 13.6 0.140 1.9
Ea—LE m 24.4 0. 057 1.4
B BB liE m 9.3 0. 151 1.4
oK AT 1.0 0.169 0.2
MAKET E5fzin 1.0 0.102 0.1
BRET E5lzis 3.0 0.102 0.3
0.0 5.3




